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SECTION- A (READING)

Q1.Read the passage given below and answer the questions that follow:

Dinosaurs are a group of reptiles that first appeared around 230 million years ago during the Mesozoic
Era. They dominated Earth's ecosystems for about 160 million years, from the Triassic through the
Jurassic and Cretaceous periods, before most species were wiped out by a mass extinction event about 66
million years ago. Dinosaurs came in many different shapes and sizes, ranging from small, bird-like
species to massive, long-necked herbivores and fierce, predatory carnivores like the Tyrannosaurus Rex.
There are two main groups of dinosaurs: the Saurischia (lizard-hipped dinosaurs) and the Ornithischia
(bird-hipped dinosaurs). Interestingly, despite the name, modern birds evolved from the lizard-hipped

group, making them the only surviving lineage of dinosaurs today.

Dinosaurs are known for their adaptations that helped them thrive in different environments. Herbivores
had specialized teeth for grinding plants, and many developed defensive features like horns or armor.
Carnivores, on the other hand, had sharp teeth and claws to hunt their prey. Some dinosaurs were bipedal,
walking on two legs, while others were quadrupedal, using all four legs for locomotion. Fossil evidence
has also shown that many dinosaurs had feathers, and some could be warm-blooded, showing more

similarities to birds than reptiles.
A)When did dinosaurs first appear?
a) 300 million years ago
b) 230 million years ago
¢) 150 million years ago
d) 66 million years ago
B)What are the two main groups of dinosaurs?
a) Carnivores and herbivores

b) Saurischia and Ornithischia



¢) Predators and scavengers

d) Feathered and non-feathered dinosaurs

C)Which of the following is true about modern birds?

a) They evolved from Ornithischia

b) They are not related to dinosaurs

c) They evolved from Saurischia

d) They are reptiles

D)What is believed to be the main cause of dinosaur extinction?

E)How did different adaptations, such as size, diet, and locomotion,
contribute to the success and diversity of dinosaurs during the Mesozoic

Era?

SECTION- B (Grammar and Creative Writing skills)

Q2. Read the conversation given below and complete the paragraph that follows:
Customer: Waiter, come here.

Waiter: Yes sir.

Customer: Look, there are flies in my soup.

Waiter: But sir, these are fresh flies.

Customer: What do you mean?

Waiter: We serve our food items with care.

A customer visited a restaurant. After ordering the soup, the customer complained that there
a) . The waiter told the customer that those b) . When the
customer asked what did he mean, the waiter replied that they c)

Q3. Fill in the blanks with correct form of verb of tenses:
One of the reasons why university students fail in English is because they a) (not,
speak) the language rarely with friends or parents. Another reason is that they rarely b)
(read) English novels or stories to improve their grammar and vocabulary. In
addition, they c) (not, take) the subject seriously. As a result, they d) (not,
acquire) proficiency in the language.

Q4. Write a story on the topic “A difficult situation *“ using the following help words
Help words:- once upon a time....... a happy village...... helpful people lived happily........ a
difficult situation ....... terrible famine broke out........ rich men started relief camps....... long



Q5. Imagine yourself to be Algu Chaudhary from the story Fair Play. Write a diary entry
about how would you take the decision as Head Panch. You are a very good friend of
Jumman but knowing about his aunt's condition, would you allow your feelings to come in
between the decision or give a just decision and not let your conscience die.

SECTION - C(LITERATURE)

Q6. Read the extract and answer the following questions.
It's true that all of us live interdependently

I will not be defined by my limitations

But rather buy my possibilities

We can respond to the needs of those around us,

The best ability is response-ability,

1.What message do you think the poet is conveying through the line I will not be defined by my
limitations™?
2.What is the rhyme scheme of the given extract?



